

Certain subclass of meromorphic univalent positive coefficients defined by q-difference operator

Nada Hameed Yassin *

Kassim A. Jassim [†]

Department of Mathematics

College of Science

University of Baghdad

Baghdad

Iraq

Abstract

This paper introduces a Certain Subclass of Meromorphic Univalent Positives Coefficients Defined by the q-Difference Operator. Coefficient estimates are investigated and obtained, and the upper bound is calculated.

Subject Classification: 30D30, 32A20.

Keywords: Radius of convexity, Meromorphic, Star-shaped, Convex, Constant coefficient.

1. Introduction

For $0 \leq \omega < 1$, let $\mathcal{E}_\omega$ indicate the class of the form's univalent meromorphic functions:

$$f(z) = \frac{1}{z-\omega} + \sum_{n=1}^{\infty} a_n z^n, f(\omega) = \infty,$$

defined in the unit disk $U = \{z \in \mathbb{C} ; \omega < |z| < 1\}$. Also let $\mathcal{E}_{\omega,\beta}, 0 < \beta \leq 1$ be the subclass of function f in $\mathcal{E}_\omega$ which has the expansion:

$$f(z) = \frac{\beta}{z-\omega} + \sum_{n=1}^{\infty} a_n z^n, \quad (1)$$

where $\beta = \text{Res}(f, \omega)$, with $0 \leq \omega < 1, z \in \mathbb{C}$.

The function f given in (1) is studied by Jinxi Ma [5]. The function $f \in \mathcal{E}_\omega$ is said to be a meromorphically starlike (convex) function of order σ if and only if

* E-mail: NadaHameed1983@gmail.com (Corresponding Author)

[†] E-mail: Kassim.jassim@sc.uobaghdad.edu.iq

$$-\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > \sigma, 0 \leq \sigma < 1, z \in U \quad (2)$$

$$-\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > \sigma, 0 \leq \sigma < 1, z \in U \quad (3)$$

The subclass of such functions has been studied by [3] (see also [1, 2], [4], [6-7], [9-14]). Let $\mathcal{E}_{\omega, \beta}^+$ consisting of functions of the form:

$$f(z) = \frac{\beta}{z-\omega} + \sum_{n=1}^{\infty} a_n z^n, \quad (4)$$

It is known that calculus without the idea of limits is called q-calculus. Because it has so many important uses, it has impacted many scientific areas. Tang et al. [8] defined the q-derivative for meromorphic functions $f \in \mathcal{E}_0$ by:

$$\partial_q f(z) = \frac{f(z) - f(qz)}{(1-q)z} = -\frac{1}{qz^2} + \sum_{n=1}^{\infty} [n]_q a_n z^{n-1}, \quad (5)$$

where

$$[j]_q = \frac{1-q^j}{1-q}. \quad (6)$$

As $q \rightarrow 1^-$, $[j]_q = j$ and $\partial_q f(z) = f'(z)$. For $f \in \mathcal{E}_{\omega, \beta}$, let $\mathcal{E}_q^0 f(z) = f(z)$,

$$\mathcal{E}_q^1 f(z) = z \partial_q f(z) + \frac{\beta((q+1)z-\omega)}{(z-\omega)(qz-\omega)}$$

$$\mathcal{E}_q^2 f(z) = z \partial_q (\mathcal{E}_q^1 f(z)) + \frac{\beta((q+1)z-\omega)}{(z-\omega)(qz-\omega)},$$

and for $n \in N = \{1, 2, 3, \dots\}$, we can write

$$\begin{aligned} \mathcal{E}_q^n f(z) &= z \partial_q (\mathcal{E}_q^{n-1} f(z)) + \frac{\beta((q+1)z-\omega)}{(z-\omega)(qz-\omega)} \\ &= \frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k. \end{aligned} \quad (7)$$

Now, we define the following

Definition 1: The function $f \in \mathcal{E}_q^n(\omega, \beta)$ if it satisfies

$$\left| \frac{q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right)^{+1}}{\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} - 1} \right| < 1, (n \in N_0 = N \cup \{0\}). \quad (8)$$

2. Coefficients Estimates

Unless indicated, for some σ ($0 \leq \sigma < 1$), let $0 < q < 1$, ($n \in N_0$), $0 < \beta \leq 1$, $0 < \sigma \leq 1$, $z \in U$ and $\mathcal{E}_q^n f(z) = \frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k$.

Theorem 1: Let $f(z)$ be defined by (4). Then $f \in \mathcal{E}_q^n(\omega, \beta)$ if and only if

$$\sum_{k=1}^{\infty} [k]_q^n a_k \leq \frac{\beta}{1-\omega}. \quad (9)$$

Proof: Assume $f \in \mathcal{E}_q^n(\omega, \beta)$, then (8) holds true.

Therefore

$$\left| \frac{q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right) + 1}{q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right) - 1} \right| < 1.$$

Also,

$$\left| \frac{q \left(z(\mathcal{E}_q^n f(z))' + \mathcal{E}_q^n f(z) \right)}{q \left(z(\mathcal{E}_q^n f(z))' - (\mathcal{E}_q^n f(z)) \right)} \right| < 1.$$

Then

$$\left| \frac{q \left(z \frac{-\beta}{(z-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k z^k \right) + \frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k}{q \left(z \frac{-\beta}{(z-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k z^k \right) - \left(\frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k \right)} \right| < 1.$$

So ,

$$\operatorname{Re} \left(\frac{q \left(z \frac{-\beta}{(z-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k z^k \right) + \frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k}{q \left(z \frac{-\beta}{(z-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k z^k \right) - \left(\frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k \right)} \right) < 1.$$

Now , when $z \rightarrow 1$ - we get:

$$\frac{q \frac{-\beta}{(1-\omega)^2} + q \sum_{k=1}^{\infty} [k]_q^n k a_k + \frac{\beta}{1-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k}{q \left(\frac{-\beta}{(1-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k \right) - \left(\frac{\beta}{1-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k \right)} < 1.$$

So,

$$q \frac{-\beta}{(1-\omega)^2} + q \sum_{k=1}^{\infty} [k]_q^n k a_k - \frac{\beta}{1-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k < q \frac{-\beta}{(1-\omega)^2} + q \sum_{k=1}^{\infty} [k]_q^n k a_k + \frac{\beta}{1-\omega} - \sum_{k=1}^{\infty} [k]_q^n a_k.$$

Hence

$$\sum_{k=1}^{\infty} [k]_q^n a_k < \frac{\beta}{1-\omega}$$

Conversely, let condition (9) be true to prove that $f \in \mathcal{E}_q^n(\omega, \beta)$ we have to show that

$$\left| q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right) + 1 \right| - \left| q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right) - 1 \right| \leq 0.$$

Now,

$$\begin{aligned} & \left| q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right) + 1 \right| - \left| q \left(\frac{z(\mathcal{E}_q^n f(z))'}{\mathcal{E}_q^n f(z)} \right) - 1 \right| = \\ & \left| q \left(z \frac{-\beta}{(z-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k z^k \right) + \frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k \right| - \left| q \left(z \frac{-\beta}{(z-\omega)^2} + \sum_{k=1}^{\infty} [k]_q^n k a_k z^k \right) - \left(\frac{\beta}{z-\omega} + \sum_{k=1}^{\infty} [k]_q^n a_k z^k \right) \right|. \end{aligned}$$

$$\begin{aligned}
&= \left| \sum_{k=1}^{\infty} [k]_q^n a_k z^k [qk+1] - \frac{\beta z q}{(z-\omega)^2} + \frac{\beta}{z-\omega} \right| - \left| \sum_{k=1}^{\infty} [k]_q^n a_k z^k [qk-1] - \frac{\beta z q}{(z-\omega)^2} - \frac{\beta}{z-\omega} \right| \\
&= \left| \sum_{k=1}^{\infty} [k]_q^n a_k z^k [qk+1] - \left(\frac{\beta z q}{(z-\omega)^2} - \frac{\beta}{z-\omega} \right) \right| - \left| \sum_{k=1}^{\infty} [k]_q^n a_k z^k [qk-1] - \left(\frac{\beta}{z-\omega} + \frac{\beta z q}{(z-\omega)^2} \right) \right|.
\end{aligned}$$

When $|z|=1$, therefore

$$\leq \sum_{k=1}^{\infty} [k]_q^n a_k [qk+1] + \frac{\beta q}{(1-\omega)^2} - \frac{\beta}{1-\omega} - \sum_{k=1}^{\infty} [k]_q^n a_k [qk-1] - \frac{\beta}{1-\omega} - \frac{\beta q}{(1-\omega)^2}$$

$$\begin{aligned}
&\leq \sum_{k=1}^{\infty} [k]_q^n a_k [qk+1 - qk+1] - \frac{2\beta}{1-\omega} \\
&\leq 2 \sum_{k=1}^{\infty} [k]_q^n a_k - \frac{2\beta}{1-\omega} \leq 0
\end{aligned}$$

Therefore by the maximum modulus principle, we have $f \in \mathcal{E}_q^n(\omega, \beta)$.

Corollary 1: If $f \in \mathcal{E}_q^n(\omega, \beta)$, then we have

$$a_k \leq \frac{\beta}{[k]_q^n (1-\omega)} \quad (10)$$

Equality is attained for the function f :

$$f(z) = \frac{\beta}{z-\omega} + \frac{\beta}{[k]_q^n (1-\omega)} z^k$$

Let $\mathcal{E}_q^n(\omega, \beta, m) \subset \mathcal{E}_q^n(\omega, \beta)$ consisting of functions:

$$f(z) = \frac{\beta}{z-\omega} + \frac{\beta m}{(1-\omega)} z + \sum_{k=2}^{\infty} a_k z^k, \quad (11)$$

with $0 \leq m < 1$.

Theorem 2: Let $f(z)$ be defined by (4), then $f(z) \in \mathcal{E}_q^n(\omega, \beta, m)$ if and only if

$$\sum_{k=2}^{\infty} [k]_q^n a_k \leq \frac{\beta}{1-\omega} (1-m), \quad (12)$$

Proof: Assume that

$$a_1 = \frac{\beta m}{(1-\omega)}, \quad (0 \leq m < 1), \quad (13)$$

In (9), we have

$$\frac{\beta m}{(1-\omega)} + \sum_{k=2}^{\infty} [k]_q^n a_k \leq \frac{\beta}{(1-\omega)}, \quad (14)$$

Which implies (13), the equality accurse for

$$f(z) = \frac{\beta}{z-\omega} + \frac{\beta m}{(1-\omega)} z + \sum_{k=2}^{\infty} \frac{\beta(1-m)}{[k]_q^n (1-\omega)} z^k \quad (15)$$

Corollary 2: If $f(z) \in \mathcal{E}_q^n(\omega, \beta, \sigma, m)$

$$a_k \leq \frac{\beta(1-m)}{[k]_q^n (1-\omega)}, \quad (k \geq 2) \quad (16)$$

Theorem 3: If $f(z) \in \mathcal{E}_q^n(\omega, \beta, m)$, then

$$\sum_{k=2}^{\infty} a_k \leq \frac{\beta}{[2]_q^n (1-\omega)} (1-m), \quad (17)$$

Proof: Let $f(z) \in \mathcal{E}_q^n(\omega, \beta, m)$. Then in view of (13), we have

$$\sum_{k=2}^{\infty} [k]_q^n a_k \leq \frac{\beta}{1-\omega} (1-m). \quad (18)$$

$$\text{Then } [2]_q^n (1-\omega) \sum_{k=2}^{\infty} a_k \leq \beta (1-m)$$

which immediately yields the result.

References

- [1] M. K. Aouf, On a certain class of meromorphic univalent functions with positive coefficients, *Rend. Mat. Appl.*, 7 (11), no. 2, 209-219 (1991).
- [2] M. K. Aouf and H. E. Darwish, Certain meromorphically starlike functions with positive and fixed second coefficients, *Tr. J. of Mathematics.*, 21, 311- 316 (1997).
- [3] J. Clunie, On meromorphic schlicht functions, *J. Lond. Math.Soc.*, 34, 215-216 (1959).
- [4] R. M. Goel and N. S. Sohi, On a class of meromorphic functions, *Glas. Mat.*, 3. Ser., 17 (37), 19-28 (1982).
- [5] Jinxi Ma, Extreme points and minimal outer area problem for meromorphic univalent functions, *J. Math.Anal. Appl.*, 220 (2), 769-773 (1998).
- [6] J. Miller, Convex meromorphic mappings and related functions, *Proc. Am. Math. Soc.*, 25, 220-228 (1970).
- [7] H. M. Srivastava and S. Owa, Current Topics In Analytic Functions Theory, World Scientific, Singapore (1992).
- [8] H. Tang, H. M. Zayed, A. O. Mostafa and M. K. Aouf, Fekete-Szegő problems for certain classes of meromorphic functions using q-derivative operator, *J. Math. Research. Appl.*, 38, no. 3, 236-246 (2018).
- [9] B. A. Uralgaddi and M. D. Ganigi, A certain class of meromorphically starlike functions with positive coefficients, *Pure Appl. Math. Sci.*, 26, 75- 81 (1987).
- [10] B. A. Uraleagaddi and C. Somanatha, Certain differential operators for meromorphic functions, *Houston J. Math.*, 17, 279-284 (1991).

- [11] B. A. Uralegaddi and C. Somanatha, New criteria for meromorphic starlike univalent functions, *Bull. Austral. Math. Soc.*, 43, 137-140 (1991).
- [12] Kassim. A . Jassim. Adnan Aziz, Some Geometric Properties of Generalized Class of function associated with Higher Ruscheweyh Derivatives. *Iraq Journal of Science*, Vol .60. No, 9, pp: 2036-2042 (2019).
- [13] Kassim. A. Jassim. Reem O. Rasheed, New subclasses of meromorphic multivalent functions associated with a differential operator, *Journal of Interdisciplinary Mathematics*, Vol. 22, No, 8, pp. 1443-1449 (2019).
- [14] Shubham Sharma & Ahmed J. Obaid. Mathematical modeling, analysis and design of fuzzy logic controller for the control of ventilation systems using MATLAB fuzzy logic toolbox, *Journal of Interdisciplinary Mathematics*, 23:4, 843-849 (2020), DOI: 10.1080/09720502.2020.1727611.